Diff. Eq. Test #3 Problem Set Prof. G. Buthusiem
.Solve x*y"—xy'+y=2x
. Find two power series solutions of the given DE about the ordinary point x = 0:
(x> +1)y"~6y=0
. Find two series solutions about the singular point x = 0 for 2xy"+5y"+xy =0
. Solve 6x*y"+5xy'—y=0
. Find two power series solutions about the pointx =0 for y"+xy=0
. Find the Laplace transform for the following
a. f(n=r b. fO)=21-1° ¢ f(t)=cosSt+sin2
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7. Find the inverse Laplace transform of'l { S }

8. Use the Laplace transform to solve the IVP: %+2y =t, y(0)=-1
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